Math 54, Section 214 Your name: \<%ﬂ
Quiz 8, April 9, 2010

Please write your name on each sheet. Show your work clearly and in
order, including intermediate steps in the solutions and the final answer.

1. (10 pt) Let Py be the space of polynomials of degree no more than 2 with
the inner product given by

(p,a) =p(0)a(0) + p(1)a(1) +p(2)a(2).

Find a unit vector in P, that is orthogonal to 1+t and 1 —t.
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2. (10 pt) Consider the matrix

A=

1
7= 1],
1

are eigenvectors of A, and find the corresponding eigenvalues.

(b) Find a diagonal matrix D and an orthogonal matrix P such that A =

(a) Prove that
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